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1. What is the main theme of this passage? F&&ET

EEGE)

3. Which of the following statements is correct about: He

2. What is implied by this passage? %75 T
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6. Based on the passage, which of the following is NOT true? &7 |z|
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5. Based on the passage, which of the following is true? &%
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1. Write a title for this passage in English which clearly indicates its main

topic.
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3. Write a short essay of not more than 80 words in English in which you

provide a concrete solution to one of the problems mentioned in the passage



